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1. {6 points) / - dr = -, + _S_k_i + ;KT’- Aﬂ(

- f(z + +—i-)4(’4¢ =’_92§__2:+ﬂc1—/@m(’)((+c‘

X

2. (7 points) Suppose f(z) is a function for which f'(z) = % +2z and f(1) =5. Find f(z).

bzl f(‘;%*f;t\&&( :}m(x(+z.é‘-7(24,c
Thas ’Hx):lmlac\-%j(?’JrQ
Als, 5=40) =il +15+C
5= oO+I+C
IC’_ = Y
Answer: | F(x) = dnlxl + X +‘7’J

3. (7 points) A falling object has a velocity of —32t — 16 feet per second ¢ seconds after it is dropped.
It hits ground 10 seconds after being dropped. From what height was it dropped?

V(#) = =324 —16 )
s(e) = ((azt-1e)dt = -l —l6E +C
Ths S(£)= 64564 + C

O = Sto)= —le 01610 C

O = —[600-160+ C

C = 1760
CovxsecbvenJrLg {S(i—\ —|5;&2“ & £ + 176%
Obsect dvorpel Reow Waight S6) =([760Feet

Know
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| = (;—-l@nlac( + C-\

Name:

2. (7 points) Suppose f(z) is a function for which f'(z) =e*+ 2z and f(0) = 5. Find f(z).

T(x) = f(e’%zﬂjxx =% w1
S, )= eX+x+C
5= flo) = erotic

5 =1l+cC
X Z
Thr C=9  and ljcf%)=€+% +L/‘}

3. (7 points) An object moving on the number line has velocity v(t) = 3t> + 4 at time ¢ seconds. It
is at the point 2 on the number line the instant its acceleration is 12 units per second per second.

Find the position function s(t).
V(¢)= 34°+Y | | |
alr)= Vee)= 64 (Aceeahos is 12 whn £=2

The object Ts at powk 2 whan £=2 (becavse at)sj2)

This meoms [S(2) = 2 ) .
Also SC(#) = jw,&)g&: fézﬁ +L/\ = +4Yt +C
So S(A) = 7€3+‘-/}‘_— + C

To fnd ¢ 2 —_:S(z)-_—.zg-;-t{.z__;_c = ¢ = 7-16=-1

Tl’\U'S S(‘t): ;(-3.1-51;6 .._/L/l
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1. (6 points) 3” +5‘Td - f A/)( f('b’ + 5.4 OQ/)‘
= |3x+ & Jm\ocl + C|

2. (7 points) Suppose f(z) is a function for which f'(z) = 2z + cos(z) and f(wx) = 0. Find f(z).

2. B
AL QZ%—FQOS(?C))M = 2%‘*’5‘“ (x) +

So &\ = 7(2’+s{7n(9<\+c

AlsQ} 0 = f(w) = o4 sin(m)+ C
O =T+ O+ C
C = -re

(—53(%) = X%+ Sia(x) —’IT‘?'J

3. (7 points) Suppose an object moving on a line has velocity function v(t) = 2t + 3.
Find its position function s(t), given that you happen to know s(2) = 8

S(#) = ﬁ“ﬁ s\ = 25 ATEBE L

5 |
Ae S(t)=xd t3£+C

Know §=5(2) = 22+3‘2 +C
g = 0 f+cC
C = -2 ‘

Therafene 15(;&)

L

A543t -2 |
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1. (6 points) fx+zezd$=fﬂ%€i)&&(: f04—€’(>4@)f = I%—& €x+ C

HA

2. (7 points) Suppose f(z) is a function for which f'(z) =3z -2 and f(4 )—7 Find f( )
$(x) = 5(3\[?{ -2.) AN = S(B:K —z)&){ = 3]'1'3( 29(+C

= 3—1(4-2>(+< = aVx —zx4C

__\_\_______-

T $12) =22 |

To Samd C: T=+(¢)=ay7 -2.9 +C
7 =2.2"-8 +¢
C = -

Ang e l—F(%) — 2\[7(3—~27( ——IJ

3. (7 points) A ball, tossed straight up, has a constant acceleration of —32 feet per second per second.
At time ¢ = 0 its velocity is v(0) = 10 feet per second, and its position is $(0) = 6 feet. Find the
position function s(t).

ald) = -32
VI4L) = Sa(,e?AJ— 532&% = =324 + C

So {VixT = 322 « <

To fand. C? 10=v(c)=-32:0 +C e c=10
Than IV(;E) -324 -L[Oj

Now (k) = IV(k)M S-( 32;64-10)0{# } léi'ﬁfoi‘*‘c

de, VS(£) =~ 7&+(01‘+<j

o fuwd C1 6=560) =-16p%(p0+C —‘@@ l_/f-\is S(8)= ~ el * 164 +(




